PRACTICE 3B

Find the value of each of the following:

(a) (b)
1. $4.40 + $1.60 $0.80 — $0.45
2. $2.80 + $3.15 $6.55 — $2.50
3. $5.35 + $3.70 $7.05 — $5.25
4. $7.70 + $1.75 $4.30 — $2.75
5. $3.60 + $4.99 $8.10 — $4.95
6. Find the total cost of the birdie and the racket.

$7.85
7. A pair of shoes costs $10.
A pair of slippers costs $6.30.
How much cheaper is the pair of slippers?

8. Eric bought a greeting card for $1.85.
He gave the cashier $5.
How much change did he receive!

9. Emily has $4.25.
Mitchell has $1.95 more than Emily.
How much money does Mitchell have?

10. Taylor has $5.65.
Her mother gives her $1.70 more.
How much money does Taylor have now!?

50



